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Result:  The percentage of calcium present in the lime stone/dolomite is ¥

PUEETI RS FOG ThE TINLTd

Q.1 What is ore?
Ans. Ore is defined as any material, which occurs in nature and from whi
metal or substance can be extracted economically

ha

Q.2 List some ores of cal

m.

Ans. Two ores of calcium are limestone and dolomite.
contains CaCO. and a small amount of the MgSO, . The dolomite is the
equimolar mixture of CaCO_ and MgSO

Q.3 Why calcium ores are dissolved in the dilute HCI?

e limestone mainly

Ans. The calcium ores are first dissolved in the dilute HCI, to convert the
present CaCO into CaCl , which further react with ammonium chromate.

Q4. Why no indictor is required in permanganate titration?

Ans. No indicator is required is case of permanganate titration become MnO
act as self indicator.
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Q5. What is equivalent weight of Oxalic Acid?
Ans. Oxalic acid is dihYdrate and di-basic acid as it can give two H” fons in

solution.
For an acid, eq. Wi = —m Wt
Basicity
So for COOH 126
2F 50 =63
COOH

Q6. What should be eg. Wt of KMnO, in acidic medium?
Ans. For an oxidizing agent;
mol. wt

Fqwi= —
No. of ¢ gained by onmolecule

mo.wt

Wq. wt of KMnO. = 36

5

Q7. Why equivalent wt of KMnO, varies in different medium?

Ans. The eq. wi. of an oxidizing or reducing agent depends up on the fonic
equation in a particular medium which may involve different no. of
electrons. So depending up on number of electrons involved in ionic
equation in different mediums eq. Wi, of KMnO, is different.

Q8. Give the onic equation showing oxidizing nature of KMnO), in acidic
medium.

Ans. MO +8H' +5¢ — Mn "+ 4H O





